BEE
SHSHE

THSEERIBEBIRIERE

A H R

ZEL R&2E %

IH B ZTEEHREXE
E B TEEBHEEXE
Bo#yn BIEHETE
BEEES 18-16-23-004



RERNRE SHSEERBEERARE

% R B - RRSTiE B % B B ff & i) m o=
ERNEE 6,105, 990
KEHRE 6,105, 990
KEHRE 6,105, 990
KEHRE 5,908, 894
REER 321, 355
1 REER 1.00 226, 543 226, 543
=
2 HAMIER 1.00 94,812 94,812
=
FERE 386, 475
3 BE 1.00 50, 304 50, 304
=
4 ERECEL) 11.00 30, 561 336, 171
=
KEHRAE 3, 360, 302
5 £k (1) ®fE 80. 00 32,530 2,602, 400
=
6 £k (2) ®fE 12.00 32,530 390, 360
=
T HRhERK 1.00 367, 542 367, 542
=
AT 471,960
8 DHTEER 1.00 471, 960 471, 960
=




RERNRE SHSEERBEERARE

% R R - RARSTiE B % B B % i) m o=

S 1, 368, 802

9 |MESER 1.00 1,368, 802 1,368, 802
=

E#EEE 197, 096

S 50, 000

10 £BHER 1.00 50, 000 50, 000
=

k& 1417, 096

1 k& 1.00 147, 096 147, 096
=




WX SHSEERBEBBERE

% # 1R - R B ¥ B i & % W=
ERARE 4,737,188
HRE 4,265,228 x 72.5% — 9,478 3,082, 812
BRI 1,355,250 + 13,552 1,368, 802
EEAGE 1,355, 250
EERE 13,552
T Ot R 1,355,250 x 53.85% ( 35% + (1 — 35%) ) 729, 802
RHIRIE 1,368,802 + 729,802 2,098, 604
—REERF 2,098,604 x 53.85% ( 35% = (1 — 35%) ) — 8,702 1,121, 396
FEES LT 7,820,000 + 3,220,000 11, 040, 000
HEREELE 11,040,000 x 10.00% 1,104, 000
AEEBE 11,040,000 + 1,104,000 12, 144, 000




Bffik-fEI/\vr—>

T FERBERREHRE

&5 1
& RAEERE 1LY
2 b g - BIRTE By = BHO(f %8 W = " =
BIEFEHEM
A 2.00 51, 000. 00 102, 000
RIS HRER
A 2.00 44,000. 00 88, 000
Bl S H A
A 1.00 34, 300. 00 34, 300
MR 2D %
% 1.00 224, 300. 00 2,243
& Hi 1YE%HeH - 1.00K 226, 543. 00 226, 543
HRRES VY 1 MBS (o) :1.65 AR (B) :1.20
&5 .2
B HAIERR 1LY
2 b g - BIRTE By = BHO(f 25 W E " =
BIEHEE
A 2.00 217,000. 00 54,000
FSvo 2t
B 1.50 26, 583. 00 39, 874
MR £ NOY)
% 1.00 93, 874.00 938
& Hi 1E%HeH - 1.00K 94,812.00 94, 812
HRARES VY 1 MBS (o) :1.65 AR (B) :1.20




Bffik-fEI/\vr—>

T FERBERREHRE

E#5:3
2 BE 1XEY
2 b g - BIRTE By H = B ] W = " =
REBHE 54 kY 2
H 0.10 3,324.00 332
RiE M FRP D 70PSZ%! 3.0t
H 0.50 73, 089. 00 36, 544
BIEFEHEM
A 0.10 51, 000. 00 5,100
RIS HRER
A 0.10 44, 000. 00 4,400
Bl S H A
A 0.10 34, 300. 00 3,430
MR 2D %
% 1.00 49, 806. 00 498
& Hi 1EZBER - 1.00 50, 304. 00 50, 304
HRRES VY 1 MBS (o) :1.65 AR (B) :1.20
BS54
&% EREGEL) 1B34Y (6#1R)
2 b g - BIRTE By H = B ) W E " =
REBHE 54 kY 2
H 1.00 3,324.00 3,324
BIEf FRP D 70PSZ!
H 1.00 75, 256. 00 75, 256
RIS HRER
A 1.00 44, 000. 00 44,000
Bl S H A
A 1.00 34, 300. 00 34, 300
GNSS:AIfI £ & DGNSS
H 1.00 25,575.00 25,575
MR £ NOY)
% 0.50 182, 455. 00 912
& Hi {EZBEA : 6. 00t s 30, 561. 00 183, 367
HRARHES VY 1 MBS (o) :1.65 AR (B) :1.20




Bffik-fEI/\vr—>

T FERBERREHRE

ES:5
&% BKA0) ®E 1BEY (7.5 5)
2 b g - BIRTE By = B ) W = " =
REE S4 kY 2L
B 1.00 3,324.00 3,324
SREM FRP D 70PSZ%! 3.0t
B 1.00 81, 193. 00 81,193
RIS HRER %=
A 1.00 48, 300. 00 48, 300
B S B Eh#H %=
A 1.00 38, 050. 00 38, 050
BEENF %=
A 2.00 35, 350. 00 70, 700
MR 2D %
% 1.00 241,567.00 2,415
& Hi 1YE%HED : 7.50 5 32, 530. 00 243, 982
HRRES VY 1 MBS (o) :1.65 AR (B) :1.20
ES .6
&% BKQ ®E 1BEY (7.5 5)
2 b g - BIRTE By = B ) W E " =
REE S4 kY 2L
B 1.00 3,324.00 3,324
SREM FRP D 70PS%! 3.0t
B 1.00 81, 193. 00 81,193
RIS HRER %=
A 1.00 48, 300. 00 48, 300
B S B Eh#H %=
A 1.00 38, 050. 00 38, 050
BEENF %=
A 2.00 35, 350. 00 70, 700
MR £ NOY)
% 1.00 241,567. 00 2,415
& Hi 1YE%HED : 7.50 5 32, 530. 00 243, 982

HARKS VY 1

ARt ARE (o) :1.65

Ak (8) :1.20




B@R-EI/\vr—>

SIEERBEBIRERE

E5:1
£ BEENER 1K%Y
£ b I - BIKTE BAL = B O £ M = " %
Bl S H A
A 9.00 34, 300. 00 308, 700
REBHE 54 kY 2
B 9.00 6, 538. 00 58, 842
& i 1EZBERN - 1.00 367, 542. 00 367, 542
HAGRKZ VY 1 FamABt ARG (o) :1.65 #HARHK (B) :1.20
5 :8
%?ﬁ\ﬁ‘*ﬁ%ﬁﬁ 1:_r-t§")
£ Eu I - BIKTE B4L = B O £ M = " %
S HTEER
= 1.00 471, 960. 00 471, 960
& Hi EZBER - 1.00 471, 960. 00 471, 960
HAGRKZ VY 1 AR RS (o) :1.65 HARHK (B) :1.20
E5:9
£ MESIER XY
£ Eu I - BIKTE B4L = B O £ M = " %
FEHER
A 1.00 62, 200. 00 62, 200
HEm (B)
A 12.50 45, 300. 00 566, 250
K&
A 23.00 31, 600. 00 726, 800
EHRARE E O
% 1.00 1, 355, 250. 00 13, 552
& Hi 1EZBER - 1.00 1, 368, 802. 00 1,368, 802

HARKS VY 1

R ARYE (o) :1.65

Ak (8) :1.20




BfR-BEI/ \vr—>

SIEERBEBIRERE

&5 .10
£ XBHRER IEE D)
% g I - BIKTE B = B %8 S " %
EBERRRE
= 1.00 50, 000. 00 50, 000
& &t EZBER - 1. 00 50, 000. 00 50, 000
HAGRKZ VY 1 FamABt ARG (o) :1.65 #HARHK (B) :1.20
g1
&% k& 1%y
% g I - BIKTE Bifg = B 5 S " %
&
= 1.00 147, 096. 00 147, 096
& &t EZBER - 1.00 147, 096. 00 147, 096
HAGRKZ VY 1 FamABt AR (o) :1.65 HARHK (B) :1.20




